


5 / 5
GIVE US A CALL: 1-844-416-2090

MON-FRI  8:30AM - 5:30PM (PT)
customerservice@eurekaergonomic.com

STEP 5

(I)

M6*20  X4

(J)

M6  X1

(L)

X1

STEP 6

(N)

X8

L

I

J

N



1 / 5
GIVE US A CALL: 1-844-416-2090

MON-FRI  8:30AM - 5:30PM (PT)
customerservice@eurekaergonomic.com4 / 5

GIVE US A CALL: 1-844-416-2090
MON-FRI  8:30AM - 5:30PM (PT)
customerservice@eurekaergonomic.com

ERK-GC10MODEL #

If you need to return the goods, please keep all the packaging materials and return it in the original packaging!

Si vous devez retourner la marchandise, veuillez conserver tous les matériaux d'emballage et le retourner dans l'emballage d'origine!

Si necesita devolver los productos, conserve todos los materiales de embalaje y devuélvalos en el embalaje original!

如需退货请保留好所有包装材料，并按原包装包好退回!

VORTEX GC10

GC10电竞椅

STEP 3

STEP 4

(I)

M6*20  X4

(J)

M6  X1

(K)

X2

I

J

K



3 / 5
GIVE US A CALL: 1-844-416-2090

MON-FRI  8:30AM - 5:30PM (PT)
customerservice@eurekaergonomic.com2 / 5

GIVE US A CALL: 1-844-416-2090
MON-FRI  8:30AM - 5:30PM (PT)
customerservice@eurekaergonomic.com

(B)

X1 X1

(C)(A)

X5

(E)

X1 M6*20  X2

(F)(D)

X1

(H)

M6*30  X2 M6*25  X8

(I)(G)

φ6*φ18  X4

(K)

X2 X1

(L)(J)

M6  X1

(N)

X8

(M)

X1

PARTS / PIÈCES / PARTES / 部件清单 STEP 1

(A)

X5

(B)

X1

(C)

X1

(D)

X1

STEP 2

(E)

X1

(G)

φ6*φ18  X4

(F)

M6*20  X2

(H)

M6*30   X2

A

J

G

G

J

M

H

E

F

B

C

D

(J)

M6   X1

(M)

X1




